
Exercice 8.2: Intégrales g/’enéralisées

Soit

f(x) =

{ 1

b− a
a < x < b

0 sinon

(1) I1 =

∫ +∞

−∞
f(x) dx.

Soit c > max(|a|, |b|) ainsi −c < a < b < c et:

I1(c) =

∫ +c

−c
f(x) dx

=

∫ a

−c
f(x) dx+

∫ b

a

f(x) dx+

∫ +c

b

f(x) dx

= 0 +

∫ b

a

f(x) dx+ 0

=

∫ b

a

1

b− a
dx

=

[
x

b− a

]b
a

= 1

Donc

lim
c→+∞

I1(c) = 1 ∈ R

Donc I1 converge et I1 = 1.

1



2

(2) I2 =

∫ +∞

−∞
x · f(x) dx.

Soit c > max(|a|, |b|) et:

I2(c) =

∫ +c

−c
x · f(x) dx

=

∫ a

−c
x · f(x) dx+

∫ b

a

x · f(x) dx+

∫ +c

b

x · f(x) dx

= 0 +

∫ b

a

x · f(x) dx+ 0

=

∫ b

a

x

b− a
dx

=

[
x2

2 · (b− a)

]b
a

=
b+ a

2

Donc

lim
c→+∞

I2(c) =
b+ a

2
∈ R

Donc I2 converge et I2 =
b+ a

2
.

(3) I3 =

∫ +∞

−∞
x2 · f(x) dx.

Soit c > max(|a|, |b|) et:

I3(c) =

∫ +c

−c
x2 · f(x) dx

=

∫ a

−c
x2 · f(x) dx+

∫ b

a

x2 · f(x) dx+

∫ +c

b

x2 · f(x) dx

= 0 +

∫ b

a

x2 · f(x) dx+ 0

=

∫ b

a

x2

b− a
dx

=

[
x3

3 · (b− a)

]b
a

=
b2 + a · b+ a2

3



3

Donc

lim
c→+∞

I3(c) =
b2 + a · b+ a2

3
∈ R

Donc I3 converge et I3 =
b2 + a · b+ a2

3
.

(4) ∀x ∈ R, F (x) =

∫ x

−∞
f(t) dt.

Donc:
x < a⇒ F (x) = 0

a ≤ x ≤ b⇒ F (x) =

∫ x

a

1

b− a
dt

=
x− a

b− a
x > b⇒ F (x) = 1


